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Nr.2

Nr.4

Kédainiai 2017
Sprendimai
1 turas

P. Murashev JK , M. Rimkus - 752017 1. Bd1! [s].

M. Marandyuk JK .M. Rimkus - 75 2017
1.¥b6! 2, ¥ d4+ [
l... Bxc7 2. Bxe3+ [
1...c2 2. 82+ [
1... ¥xe52.Qc5+ [
1...de 2. ¥b5+. [

M. Marandyuk JK , M. Rimkus - 75* 2017

1.a4! 2. B4 e5 3. Qb4+ Re6 4. Bfe+ Re7 5.8d5+; (1]
1 e5 2. Qbd+ Rc53.8a6+ 92d54.8c7+ L5 5. Qebt; [2]
| Be52. fa+ Res 3.Qe6+ 2d5 4.BeT+ Re35.8c6+; [2]

S. Nielsen 10th ARVES . T. 2017, 1 pr.
1.8e6+ [
1. Bxe6 2. ®c8+ 2b6 3. ¥b8+ L5 4.82e6 [
4. Ac3+5.Ra5 2d56.8c3

6... ¥d2 7. Hb4+ [
7... Bxb4 8. Aedi.
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Ch. Jonsson & R. Wiehagen JK ,,M. Rimkus - 75* 2017
.84 ¥gl 2 Bxf5+ Qedi
1.d3 ¥xg7 2.ef+ Beb;
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Nr.6 P. Sickinger & M. Schreckenbach, Harmonige. 2013.

1.Bg7! graso 2.Bf4+ Bxfa#; [1
... Bfa2 Lxe6+ Bxedi: [l
1... de2.¥xf2+ Lxf2#, [1]
1... Bxg7 2. ¥4+ Bxfat [1]
1... Bf~ 2, Be5+det; [1]



Kédainiai 2017
Sprendimai
2 turas

Nr. 7 M. Basisty  JK ,,M. Rimkus - 75 2017 1.2db2! [5]

Nr. 8 G. Atayants JK .M. Rimkus - 75 2017

1.&d6! 2. BxeT+ [1]

... &8 2.g7! (1]

l...ed 2.cd! [1]

l... Bc4 2.5+ [1]

1. 2152 Bfo+ [1]
Nr. 9 R, Krdtschmer JK ..M. Rimkus - 7572017

1 215 (~2. Ad6#;) [1]

1... Bhs+2 o4 Beg+3. KhS Bhs+ 4.2h6 [2]

4. BbSs5.8xf7 La3 6.8d5+ (Bc5 7.edH). (2]
Nr.10 P. Arestov JT ..M. Pavlov -80* 2017 | HM

1.8248! (1]

1. ®bor2.92c8 Mc6+ 3.2d8 Ebo+4.2c8 2]

4.. Lxed! 5 Best! [3]

5.. a6 6.b8A+! [4]

6... Ba77.Bas+ ¥xas 8. A6+ (3]

7. Sxc6 pat,

Nr.11 M. Rimkus Originalas.
| Re72.Bd6 Q2xd6 3.#d5+ @xd5 4. Bed Lxed 5.3 Dxf3 6.d3 De3#: [2.5]
1. 2c82.03 b8 3.2e2 Rc74.203 £d55.214 Leb 6.2e5 LdTH. [2.5]

Nr.12 D. Kostadinov MT .,V Richkov - 60~ 2016, 1 pr.

1 Bbe! 2.Bb5+ Lxbs 3. Qde+ Bxd6 4. B fa+ Lxfii: (1]
1. &bl 2,846+ Hxd63. Bfa+ Lxfd 4 Ledt+ Lxedi; [15]
1. &f1 2. 8&c8+ Bd7 3. ¥h5+ Lg5 4. ¥ xh3+ Lxh3#: [1.5]
1. fca2. fc8+ fe6 3. 2d6+ Exd6 4. B th+ Loxfii [1]

Arba 3.Bb5+ Bd5 4. ¥h5+ Leg5i: (1]}



Problems Difficulty (14 Solvers)

ID| Tag |Average|S(Correct Solution)|0 < Pts. <5|0 (Wrong Solution)|- (No Solution)
41 + 0.79 0 9 2 3
10 = 1.14 3 1 8 2
11|H#5.5] 1.25 1 5 1 7
12| S#4 1.25 2 3 2 7
91 #7 1.29 3 1 2 8
3| #6 2.79 5 4 4 1
6| S#2 | 3.00 7 2 5 0
81 #3 4.07 5 9 0 0
2| #3 4.21 11 1 1 1
7| #2 4.29 12 0 2 0
1| #2 4.64 13 0 1 0
5| H#2 | 5.00 14 0 0 0
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